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NOTE : There are three sections of this paper, A, B, & C. Carefully read the instructions for each section and -altempt
accordmgly Attempt all questions of Section - (A) and return it to the supeunlendr_nt within the gwen time.

Time : 15 Mms.,__ . . Section "A" (Ob]eCtIVE) C e Marks 12
Note: Use this sheet for this section. No. mark will be awarded for cuttmg, erasrng ar over wrrtmg
Q 1 Insert the correct optlon (a, b, < d) in the empty box opposrte to each part

@iy The velocrty time graph of an ob]ed moving with umform acceleration is v e yiniennes b
(@) Curved line (b)  Straight fine (©) -Circularline  (d) None of these
(i) A vector contains more information than a scalar What is this extra .inform'ation?'. i 1A
(a) Direcion ~  (b) Size Y Time. . (d) Speed .
giiy A 100N force acts along the x-axis; It's y components is ; L : : a |
(@ N (by 50N () 100N (dy 25N
(iv) If the radrus of a curcle is :educed to one half the values of centripetal force i R ' (L
| (a) Double - ,' '_ (b). Half . . (c) Faurtime : (d)f One fourth :
V) 1TKW= o e ) ‘ o 1 b
(@) 100w () 1000w - () 10w . (d) None of these
(vi) Barometer is used to measure : - o ' d
' '(a) Density (b) Vapour preesure (c) '.Normal pressure _ (d) Atmospheric pressure
(vii) In Kelvin Scale the ice pomt Is marked as we oo o | o
(a) 273K (b) 373K (© 0K (d) 100K /
(viii) Which of the fo!lowing produces more severe burns? o ) ' d
(@) Hotair (b) Boili-ng water - (c) “Sun rays - - (d) * Stéam 7
(ix}  Which one of the following s not a heat insulating material? ' o . C
() Wood \ (by Rubber - () Iron ‘ (d) - Plastic
(x) Lhar= ... eereens aee : : o 7 . : . ]
@ ks o (m) 100 kpa (€ 1000kpa  (d) 10000 kpa |
(xi) - Name the ST unrt, havrng the symbol cd? T AR TR S TR o ] o
@y Candala () 'CTm' S ) Ampere o ',”‘(d) CSecond
(xii) If the magnitude of velocity decreases with respect 1o time is called e o R
(a) Positive acceleratron (b) Negatrve acceleration

(¢) Average acceIErat:on . o (d) . None of these
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Q. 2 Write a short answer of any EIGHT of the following parts. Each part carries equal marks
(i) Define Plasma Physics and Semi Condcuctor Physics.
(i) Differentiate between rest and motion,

~(iity A brick falls from the Babe Khybéar 15m high, How much, time it will. take to reach the
ground?

(iv).  State and explain Newlon's second law of motion,

(v) A cricket ball of mass 400gm has the momentum of 10kgms . Calculate the velocity of the
balt? '

(vi)  Explain why door handles are not put near hinges?

~(vli) A builet of mass 30 gm travel at a speed of 1500ms !. Calculate its kmetlc energy.
(viii)  Define work and its unit joule.
(i) State and explain Pascal's principle,

- (X) What is-the cffact of high specmc heat of water on the climate of coastal a:ca? '
(xi) A black car, standmg in the sun warms up mare quickly than any other. Why?-
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NOTE : Altempt any three questions. Each questmn carries equal marks

Q.3 a) Derive 3rd equation of motion 2as = vi? - vi?- by graphical method.
b} A bullet of mass 50 gram is fired from a 2kg gun. If the veloc ity of the bull(_t |s
T 600ms ;- what would be the recoil velocity of the gun. . :
Q.4 a Explain the rectangular components of a vector, with the help of example.

b) -Calculate the force of gravitation due to earth on a chlld weighmg 10kg
: _ standing.on the gorund,
Q.5 a).. . Whatis atmospheric pressure? Descnbe some pracllcal appllcatlons of ‘
atmospheric pressure in our daily life.
) A rubber ball of mass 0,12 kg is held at a height of 2.5 m above the ground,
' and then released calculate the velouty of the ball just before it hits the
ground.
Q.6 a) Discuss "Global Warming", How it is a threat to human life?
b) What is the energy needed to melt 2kg of ice at g°C in joules?



